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010 00004

lsgboooobooboobooboooooboooobobooooobooooboon:

$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

—rwxr—-xr—-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr—-x 14 wena wena 4096 Feb 7 00:59 pypy

—-rw—-r—-—-r-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch

$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor —--sort is specified.

gbooooboobooooboboooobob:

- 1s00000000DO000C0O0DO00O0O0DOO00OO0O0O0O0O0O0O0bOO0O0O0OO0OOOobOonOn
obooooooboooooboobobooooboboooogog

- JO000D0O0O0ODOCOOODOOODOODOOOODOODOOOODOOOOOOOODOOODOOODO
oo0o0O0obD0o0bOo0pypy0 0 0OOO0OOODOOOOOODOOODOOODOOODOOO (positional
argument) D00 00000000000 O0D0O0O00OO0OOO0OO0DOOOOODOOOOODOOO
gboboobooooooboboooooooboooboooooooboooobooooooboobooon
gbooOouoboooooboooobdob epO0b0O0O0OO0OO0ODOO0OOODOODOOODO epO
ob00OO00bOO0O0000000000 cp SRC DESTOOOOODOOOO OOODOOOOOOOO
gobobooboboobooooobobooooooooo

- JO0000O0O00OOOOOOOODOOOOODOOLODOOOOOODOODOODOOODOODOO
obooooboooobOobOoobobOOobooboobod-10optional 000000 OOOO

- JO0D0OO0ODOODOO0DOO0OODLODOOOObODODLODODOOObOObLODbObObLODbDODO
gbooooboboooooboooobobooooboboooobobooooaonon




20 OO

gboooobobooooboooobooboooooa:

import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()

oboooooobooooooooo:

$ python prog.py
$ python prog.py --help
usage: prog.py [—h]

optional arguments:
-h, —--help show this help message and exit
$ python prog.py —--verbose
usage: prog.py [-h]
prog.py: error: unrecognized arguments: —--verbose
$ python prog.py foo
usage: prog.py [-h]
prog.py: error: unrecognized arguments: foo

gogboooooogoob:

- JO000D0O00DOOOOOOODOODOOOODOOOOOOOOOOOOOOOOOODOOODO
oboooooooon

- 0000000000 argparse0 000000000 O0DOOCOOOOO0OOOODOOOOOOODOO
gboooobooooooboooooaon

 ——help Uil -hoobooOoooboboooooboobogobbooobobooaboo
goboboboobomoobooboobooboobooboobbooboobooobooo
gboooobobooobooboooobobooogd




30 Uoooouoon

O:

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print args.echo

gobooooooooooon:

$ python prog.py

usage: prog.py [—-h] echo

prog.py: error: the following arguments are required: echo
$ python prog.py --help

usage: prog.py [—-h] echo

positional arguments:
echo

optional arguments:

-h, —--help show this help message and exit
$ python prog.py foo
foo

goboooooogoob:

* add-argument () OOO00O000O0O00O0O0O0O0O0O0O0OOO0OOOCOOOOOOOOOOOOOOO
obobooobobooobooobooboooooobooobooooooooooooboooobooooboboon
OechoOOOODOOODO

- JO00O00CODOO0ODOOOODOODOOOOODOOOOOOODOOOO
e parse,args () DUOOUOOOOOOODOOOOOOOO0OO0O0OOOOOOOOOOO0OO echolOO

00000 argparse 000000000000 O0O0OOOO0OO0DOOOOODOOOOODOOOO
gboboobomobOoobooooboboooboOouonboOn echoOOOOOOOOOOOOOOO

ggboaboobbooboobboobuoobboobbooboobboobbodbibdlechod
gogboobobooboobuooboobobbobooboobooboobooobobboboo
gboboooboooobOobooooboooobobooooobooog:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args()

print args.echo

gboooooobooooboobao:
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$ python prog.py -h
usage: prog.py [-h] echo

positional arguments:
echo echo the string you use here

optional arguments:
-h, —--help show this help message and exit

gboooobooboooobobooog:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args()

print args.squarex*«*2

gogbgoooooooboobooooon:

$ python prog.py 4
Traceback (most recent call last):
File "prog.py", line 5, in <module>
print args.squarex*x*2
TypeError: unsupported operand type(s) for xx or pow(): 'str' and 'int'

gboobogbooboboobobubiddbargparseddgbogooboobooboonooooanoa
U0 argparse 0000000000000 0OO0OOO0OOO0ODOOODOO:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args()

print args.squarexx2

gbooooooboooooooa:

$ python prog.py 4

16

$ python prog.py four

usage: prog.py [—-h] square

prog.py: error: argument square: invalid int value: 'four'

gboboooboooboobooobooooobooooboooboooboouoboooboboooonon
gboooooobooooooooo

6 030000000000
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Ubob00oooobOobooobOobO0Odboptional 000000 OO0OOOOOODOODOOODOO:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args()
if args.verbosity:
print "verbosity turned on"

gogoooobgoob:

$ python prog.py --verbosity 1

verbosity turned on

$ python prog.py

$ python prog.py --help

usage: prog.py [-h] [--verbosity VERBOSITY]

optional arguments:
-h, —--help show this help message and exit
—-verbosity VERBOSITY
increase output verbosity
$ python prog.py —--verbosity
usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument —--verbosity: expected one argument

gboooobooooon:

s 000000O0--verbosity OOOOOODOOOOOOOOOOOOOOOOCOOOOOOOO
oboooooboobooooobon

eoptional 0000000000000 DOOOO000ODOOO0OO0ODOOO0OOOOODOOOO

OO00D000OOoptiona) 000000000 O0000O0D0OOO00O0O0O0OO0O0OOOOD DO optional
gbgbobooooooobobdobdouobobuobdlbd args.verbosityld OO None
gobobooboboboboboo ifboobobbobooboobooboon

- JO00O00O0ODOODOOOOODOODOO
 ——verbosity OO UOOOooooooboonoooboboooodobgoobobobooaboboo

oboob0db--verbosityUOOOOOO0OO0OO0OO0OO0O0O0O0DOO0O0DOOOO0O0O0O0O0OC0OO TruelO
U0 ralseO00O0O0O0O0O0O0O0ODOOO0OOOCODOOOOOOODOOOOODOOOOOO:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("--verbose", help="increase output verbosity",
action="store true")

args = parser.parse_args ()

(oooogooo)
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(COOO0O0OO00o00)

if args.verbose:
print "verbosity turned on"

obooooooon:

$ python prog.py —-verbose

verbosity turned on

$ python prog.py —--verbose 1

usage: prog.py [-h] [-—-verbose]

prog.py: error: unrecognized arguments: 1
$ python prog.py --help

usage: prog.py [-h] [—--verbose]

optional arguments:
-h, —--help show this help message and exit
-—verbose increase output verbosity

gbooooooooon:

 JOobO0oboobobobobobuoboboboboboboobuobooobobooboobooaonoo

gobboooboooboooboooboobbo0bbdd actionl "storetrue" OO
gbobobooooobooboobobobuoboboboobOobOobOob0On args.verbose O
True 000000000000 O0O0O0O0O0O0O0O0O0O0O0O0OC0O0O0O0O0O0O0O0O0O0DO0CO00A0 False
goooaon

000000 OO0DOOOOODOOOODOOOOOOODOObOOOOODbOOOOOO

- JO0D0O0OO0O0OOODOOOOOD0ODO

41 0000000

gbgboboboboboboobooobobooooboboboboooooooobobobon
gooooboooooaa:

import argparse
parser argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",
action="store_true")
args = parser.parse_args ()
if args.verbose:
print "verbosity turned on"

gbooooboobooooobobooog:

$ python prog.py -v
verbosity turned on
$ python prog.py --help
usage: prog.py [-h] [-V]

optional arguments:
-h, —--help show this help message and exit
-v, —-verbose increase output verbosity

goboobobboobboobooboobooboobooboobn

8 040 Optional DD OOO




SO 0000000 Optionald U000

obooooboooobooboooon:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbose", action="store_true",
help="increase output verbosity")
args = parser.parse_args()
answer = args.squarex*x*2
if args.verbose:
print "the square of {} equals {)".format (args.square, answer)
else:
print answer

gogbooooobogooog:

$ python prog.py

usage: prog.py [-h] [-v] square

prog.py: error: the following arguments are required: square
$ python prog.py 4

16

$ python prog.py 4 —--verbose

the square of 4 equals 16

$ python prog.py --verbose 4

the square of 4 equals 16

- JO00O00O0OOO0DOOOOODOOOOODOOOOOOOOObOOOOOn

 J0O0O0D0O0O0DLOO0ODOODOODDODOODOODLOODO

gboooobooboooboobooooboboobooboooobOobooooboooboooDa:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int,
help="increase output verbosity")
args = parser.parse_args ()

answer = args.squarex*x*2
if args.verbosity ==
print "the square of {} equals {}".format (args.square, answer)
elif args.verbosity == 1:
print "/{}"2 == {}".format (args.square, answer)
else:

print answer

goboooboon:
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$ python prog.py 4

16
$ python prog.py 4 -v
usage: prog.py [-h] [-v VERBOSITY] square

prog.py: error: argument -v/--verbosity: expected one argument
$ python prog.py 4 -v 1

472 == 16

$ python prog.py 4 -v 2

the square of 4 equals 16

$ python prog.py 4 -v 3

16

ggboabobogbuoobboobuodobboobbooboobuoobobuodbid --verbosity
gogbooobooboobooboobooboobon:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args ()

answer = args.squarex*x*2
if args.verbosity ==
print "the square of } equals {}".format (args.square, answer)
elif args.verbosity == 1:
print "{}"2 == {}".format (args.square, answer)
else:

print answer

ggboooogob:

$ python prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:
square display a square of a given number

optional arguments:
-h, —-help show this help message and exit
-v {0,1,2}, —--verbosity {0,1,2}
increase output verbosity

gobooboboobooboobooboobobbooboobooboobooobooboo

ubooooboobooooboooobooboobo0oobo CeythonOOOOOOOOOOOOO
0b00ob00o0obO0b0o00o0ob0O python ——helpOOOOO0OO0O0O0OO0OOO:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display the square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args ()

answer = args.squarex*x*2

ooooooo)

10 0500000000 OptionalODOOO
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(COOO0O0OO00o00)

if args.verbosity ==

print "the square of equals ".format (args.sgquare, answer)
elif args.verbosity ==

print "{}"2 == ".format (args.square, answer)
else:

print answer

O0000 actionO00 7ecount” OO O OO0 O000000000000O0O0O0O0O0O0O0O0O0O0O0O00O00O0O:

$ python prog.py 4

16
$ python prog.py 4 -v
472 == 16

$ python prog.py 4 -vv

the square of 4 equals 16

$ python prog.py 4 —--verbosity —--verbosity
the square of 4 equals 16

$ python prog.py 4 -v 1

usage: prog.py [-h] [-v] square

prog.py: error: unrecognized arguments: 1
$ python prog.py 4 -h

usage: prog.py [-h] [-v] square

positional arguments:
square display a square of a given number

optional arguments:

-h, —--help show this help message and exit
-v, —-verbosity increase output verbosity
$ python prog.py 4 -vvv

16

- 000000000 O0ODOO00O00D000DO0O0 (action="storetrue"OOOOOOOODOOOO
gboboooobooooooobooooboomobo:-oboobo0o -vOoobooooooooooooo
ooooooobooom

« 0D00O7storetrue” D00 0DDOOOODOOOODOO

00 7count” DO OOOOO0OOOO0OOOOOODOOODOOODOOODOOOOO0DOOOOOOOOOO
obooooobooooboobooo

e "store_true” 00000000000 -vOOOOODOOOOODOOOO0OODO NoneOOOOOOOO

oboooooboooooboooobooboooooboooo

- JO000D0O0OOODOOODOODOODOODOODUODOUODOODODOODODOOODOOO
gboboooboobooobooooboooboboooboobooboooooooboooboooon
O00OhelpOd0OO0O0OO0OO0O0OO0O0O0O0O0ODOOMO

 J0O00D0O0DO0ODODODODDOODOODOOO

gboooooo:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

(ooooooo)

11
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(COOO0O0OO00o00)

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args ()

answer = args.squarex*x*2

# bugfix: replace == with >=
if args.verbosity >= 2:
print "the square of {} equals {)".format (args.square, answer)
elif args.verbosity >= 1:
print "{}"2 == [}".format (args.square, answer)
else:
print answer

gbooooo:

$ python prog.py 4 -vvv
the square of 4 equals 16
$ python prog.py 4 -vvvv
the square of 4 equals 16
$ python prog.py 4
Traceback (most recent call last):

File "prog.py", line 11, in <module>

if args.verbosity >= 2:

TypeError: unorderable types: NoneType () >= int ()

- JO0000O00DOO0O0OOODOOODOOOOODOODOOODOOOOOODOOOOODOOOOODOOn
20000000000

- JO00OO00O00ODOO0OOODOODOO

gbooooooooon:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args()

answer = args.squarex*x*2
if args.verbosity >= 2:
print "the square of {} equals {)".format (args.square, answer)
elif args.verbosity >= 1:
print "{}"2 == [}".format (args.square, answer)
else:

print answer

goboboboobo0bOoobO defavltogoogooooboobOoOobOOobLOoO0obOo0obO od
O0000D0O0OD0O0O000OOoptional D0 OD0OOO0O0O00O0DDO NoneODODOOOONoneOOooQd
00000000000 TypeError 00000000000 OOOOOODOO

gobgoood:

$ python prog.py 4
16

goooboooooooboboooooooooobooooobbOoobObOooobooboboooooooon
argparse UUOOO0OO0O0O0DOOOO0OO00ODOOO0OO0OO0OO0OO0OOOOO00OO0OOOOO0O0OOODOOO

12 0500000000 OptionalODOOO
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goao.
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oboboooooboobooobobooooobobobooboobooooboOoboooOooDoon:

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.X**args.y
if args.verbosity >= 2:

print "{} to the power } equals {}".format (args.x, args.y, answer)
elif args.verbosity >= 1:

print "/{}°{} == [}".format (args.x, args.y, answer)
else:

print answer

0o:

$ python prog.py

usage: prog.py [-h] [-v] x ¥y

prog.py: error: the following arguments are required: x, y
$ python prog.py -h

usage: prog.py [-h] [-v] x vy

positional arguments:
x the base

y the exponent

optional arguments:

-h, —--help show this help message and exit
-v, —-verbosity

$ python prog.py 4 2 -v

472 == 16

gogoboooooboooboobuo bbb oboobuooboboboboobooboobobbobo
gbooobooooobooooboobooooobooan:

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:
print "Running '{}'".format( file )
if args.verbosity >= 1:
print "{}° =="_format (args.x, args.y),

print answer

14
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0o:

$ python prog.py 4 2

16
$ python prog.py 4 2 -v
472 == 16

$ python prog.py 4 2 -vv
Running 'prog.py'
472 == 16

61 000000000

000000 argparse.ArgumentParser 0000000000 0OO0OODO0OOOOOOOODOOOO
000000000 addmutually exclusive group() DO00D0O0DO00OO0OO0O0OO0OOOOOODOO
ooooooooboboboooOoboboboooDooooooOooDOooDooboooDoboobooooDboo
OD00O00: --verboseOOOOOOODOO -—quiet0O0OD0OODOODOOO:

import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args ()

answer = args.X**args.y

if args.quiet:

print answer
elif args.verbose:

print "{} to the power equals {/}".format (args.x, args.y, answer)
else:

print "{}°{} == [}".format (args.x, args.y, answer)

gbboobooboooooobooobooooobooboooooboooboobboobooboOooogb:

$ python prog.py 4 2

472 == 16
$ python prog.py 4 2 —q
16

$ python prog.py 4 2 -v

4 to the power 2 equals 16

$ python prog.py 4 2 -vqg

usage: prog.py [-h] [-v | —-q] x ¥y

prog.py: error: argument -qg/--quiet: not allowed with argument -v/--verbose
$ python prog.py 4 2 -v —--quiet

usage: prog.py [-h] [-v | —-g] x ¥y

prog.py: error: argument -qg/--quiet: not allowed with argument -v/--verbose

ubbooobooooooooooooooobboooboooooooobooooooooboooboooonon
gboboooobooboooobobooooboboobooobooobo

gbooooobooboooobooboobooobooboboooooboboobooobooooboooboon
gboooooooo:

6.1. 000000000 15




Argparse 000 0000,0000 2.7.16

import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-g", "--quiet", action="store_ true")
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args()

answer = args.x*+args.y

if args.quiet:

print answer
elif args.verbose:

print "/} to the power {) equals {)".format (args.x, args.y, answer)
else:

print "{}"{} == [}".format (args.x, args.y, answer)

doooooooooooooooooo(-v | .10 -vO0OO -gO00O000O0OO0OOOOOOOOO
gohoooooooooogoobooog:

$ python prog.py —-help
usage: prog.py [-h] [-v | —-q] x ¥y

calculate X to the power of Y
positional arguments:
X the base

vy the exponent

optional arguments:

-h, —-help show this help message and exit
-v, ——-verbose
-g, ——quiet

16 060 000OOCOOOOO
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argparse U0 00000000COOOOOOOCODOOOOOOCOOOOOOOOOOOOOOO
gbooooooboboooooobobooboooooboooboobobooobooDoDobooboooDoDboo
gboooobooboooooboooobooboooooboaon
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